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            SOLUTION TO ASSIGNMENT
1i) A=(2i-j), B=(3i+j-11k) &C=(4i+4j-5k)
-3A=-3(2i-j)
=-6i+3j
7B=7(3i+J-11k)
=21i+7j-77k
-8C=-8(4i+4j-5k)
=-32i-32j+40k
3A+7B-8C=(-6i+3j) +(21i+7j-77k) +(-32i-32j+40k)
=-17i-22j-37k
=-1(17i+22j+37k)

ii)2A+4B-C
2A=2(2i-j)
=4i-2j
4B=4(3i+j-11k)
=12i+4j-44k
-C=-1(4i+4j-5k)
=-4i-4j+5k
2A+4B-C=12i-2j-39k
Therefore/k/=
Cos A= =0∙29
Cos B=
Cos C= 

iii)A*B*C
=2i-j
+3i+j-11k
+4i+4j-5k
=9i+4j-16k

iv)(3A*B).(A*2B)
3A=3(2i-j)
=6i-3j
2B=2(3i+j-11k)
=6i+2j-22k
(3A*B)=9i-2j-11k
(A*2B)=8i-3j-11k
=72+6+121
=199

v)=-8i-7j+27k

2)Vectors in the same plane are called coplanar vectors
Perpendicular vectors are vectors in adjacent planes
